EARAROBREBRT —5 XN—ZXBISH—F

20224658158 (B) 10#S4H

L0 SR3m KSF St

‘(fﬁ} W ‘I%EH?’JF&] | 5 12000 7em

[AE$] 1 7% :5,200,000 F  23#&:2,100,000 @ / 3&:

1,300,000 § 4 35:780,000 537 :520,000 A

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. NP : - ENEE
My _—F17Z o3 Sﬁéf_fgh—-m 1.(1_2).5 34 |38.4]86.5| 2 (4_762) ﬁg;ﬁij}f?%_w?‘)dl
RiFAIXTv— B:TUUFPYRISY RIS
SIE: — 8 3 | SHER 1:12.6 5-5 38.3/8.6| 5 440 | FORER ()
ISUTART—)b ~ *50.0 M () | @) JIRIF—95TLy KR
R:IAYVehY B IAYVASY SERIS
= S =_ st 3 | MEAKE 1:12.9 2-2 39.0| 83.2 | 1 462 | BEEE (FR)
\JI{K/:L FS—1t 2520 a1/ ) |.@) G1L—yvo
R:RLTFY BAFFT/RY HBEIT7—L
HYIRY —Kk—F # 3 gffgﬂﬁ% 1:(123).2 10-8  [38.1) 80.4 | 11 ‘Ig nga €55)
RibE—RA—F— BAVINU—E—F wE FER
o) — 4 3 | HELTA 1:13.2 3-2 39.21 80.7 | 4 | 456 | KNIRE (EH)
’EU/UI;UE)?DE] - A51.0 o) 4y | TR
- : v Fee ]
~ . 3 | EHET 1:13.2 7-8 38.6 | 80.5 | 10 | 482 |iBEKAE (ER)
*9H9Y1—54 3% N o | B xBEE
RiFIYYTSwT B:N—KT =6 %15
3, v 3 | BEXH 1:13.3 5-5 38.9|79.7 | 8 494 | BERE— &R
715|8 | ¥¥F¥F¥JO—F [B] 2540 F5) 4e) | ) BICE
RFIPITRTUVR B:F7HR— NVERNTP—L
t 4 3 | BHED 1:13.4 9-8 38.5|78.7 | 12 464 | KEB— (i)
8 ‘I ‘| ?:E'j*fX/:l ¥¢55.0 (3/4) (_4) 95??%& . 3
RN/ TSIV B/ RFvET BIUNIOIFUT7—L1L
91815/ ¥ZIWHvAIL— [B] 33 ;Eg%d*ﬁ 1(:31/34.)5 15-14 | 37.777.7 | 6 | 484 giﬁ%&ﬁ ER)
REYIF—Y— BVPNF P TF T O | Zzusm
> o s 3 | REN 1:13.6 10-11  [38.5| 77.0 | 9 480 |IZREE R
101519 ,A vI—Rk [B] A51.0 (3/4) (-10) | FRAE—
R:ISVTURR 8:L—YS54A MLUI YFAUKS
v 3 | BERET 1:14.1 7-7 39.4 | 73.1 7 476 | RHET (R
Eﬂ 7|97Y $54.0 @) Co | ® FrOurTr—i
XR:Shalaa B8:9UY /=Y Tr—LA
\\ s : = THE
1218114 29—FATTTA R 4 3 'g%.OTE—L (13.114/.27) 13-13 39.3| 68.0 | 3 (4_2;1) %g;? (ES7:)]
RS /LI VR B UFoFILYT B Fa
— N s 3 | BEEX 1:15.1 13-12 [39.6| 64.9 | 14 | 43 |MHEES &R
13 2 /7\')[/7171)7‘3/ A53.0 212 © ,§,§]%% .
RiAASKR=Z—9 B:FILIIETF 77 ELT7—L
1417112l 7==7 410 % 3 z%#%ﬁﬁ 1:(155).9 10-15 | 40.7| 59.8 | 15 | 462 $Fq?’ (S=57)
RZTvF—TFAN BHYSRSAN— T EE#SZ;
\— 8 3 | {ERARKE 1:18.0 1-1 44.2| 49.9 | 13 478 | KIRE ()
EH 3 /)\(9/0\ ? [_B] - o A51.0 (94Y) (-12) Eﬂﬁ%% _
R:aON/VyF— BiAXZITYVY IHZT7—L
[ BN
En'y 50.2-38.7
Navgd4L | 11.7-10.6-11.5-12.9-12.6-13.2
@ 11— —BBIEIL
13—7F—
20—F—
Ia=5r= 3,6(11,10) (8,13) (4,7)1(5,9,12) (2,14)-15
4J—F— (+3,6,10)11(8,13)-7(4,1,5)-9,2,14,15,12
0 ILRE
BB 1" 5504 JA R 11-13 1,210M & 6-7 2,210H 3EE 6-11-13 4,240
B B 1 200 6-11 440/ 5 & 11-13 4,070M 3Es 11-13-6 34,180H
13 2604 6-13 730M oS- 11-13 7,280M
6 130
ABCDOVTIRHTERERRODDZ, THERAILZETL




